
1) Share £36 into the ratio 2:1 

2) 
3

5
of £35 

3) 34 x 23

4) 
2

5
+

1

5
=

5) If I leave my house at 7:32 am and get 
to school at 8:05 am how long does it 
take me to travel to school?

6) Pens 12p pencils 4p rulers 25p 
I buy 4 pens, 3 pencils and 1 ruler. 

Do I have enough money with a £1 and 
how much change would I get?

7) What is the area and perimeter of this shape?

4.2 cm

6.7 cm

8) Solve 3𝑥 − 8 = 31

9) Expand 3(x + 4) 

10) 15% sale. A jacket originally cost £36. 
What is the sale price? 
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